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Math 1010, Take Home Exam (Exam III), Fall 2005

1. a. Consider the graph of the function below.  Determine if the function is one-to-one (and thus, whether or not its inverse is a function).


[image: image1]
b. If the points (-5,-3), (0,-2), (2,0) and (4,1) are on the graph of the function above, which points must be on the graph of the inverse function?

2. Consider the function 
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.  Prove this, either by composition of functions (show that 
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 correspond to points on the inverse of 
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3. Find the inverse of 
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.  Use this information to state the domain and the range of g.
4. a. Explain, in your own words, or give an example of why the base of an exponential function 
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 cannot be a negative number.

b. Name two points which are always on the graph of an exponential.  
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5. a. Rewrite the following logarithmic equation as an exponential function.
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b. Solve for x in the above equation.

6. Sketch the graph of the function 
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.  State the domain of the function.

7. Solve the function 
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 graphically.  Sketch the graph you get below.  Do not attempt to solve this algebraically!

8. a.  Expand 
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b. Combine into a single log expression 
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c. Find the value of 
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 using the change of base formula and your calculator.

9. Solve the equation 
[image: image17.wmf]3

)

6

(

log

)

(

log

3

3

=

+

+

x

x

.
10. Solve the equation 
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Bonus:

Suppose I invest $15,000 at 6% interest.  How long will it take before I have $25,000 in the account?
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